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SN sYUFHUD
N SAWY A5
Col SYSEYUNI|BrE (erel: @ 2
_ _ HE T
N - Z3 . S2(3H) FAE - BE=S Aol Ol AF o8 HwsZ
Ol NEtH Ha 35,000
goldSaNd ¥ SYFL2E =X 16,117,591 21,199,019 15,081,428
= 7,376,350
= 18,176
= 8,723,065
Hsoss 158,000 158,000 0
= 140,000
= 18,000
308 XXl EHHISOI& 158,000 158,000 0
= 140,000
= 18,000
01 IXSHBAEES 158,000 158,000 0
Oty QBN AP 6,000,0008 252 «79% 118,500
= 105,000
= 13,500
OFs MER AFZ 5,000,008 +102+79% 39,500
= 35,000
= 4,500
=0l NEEH 110,000 490,000 380,000
= 55,000
= 55,000
307 QI2H0IH 110,000 490,000 380,000
= 55,000
= 55,000
05 SIRtelerz 110,000 490,000 380,000
0= Z¥el 1 110,000
= 55,000
= 55,000
QY YALY X 658,560 896,000 237,440
= 588,000
< 70,560
308 il EHHISOIH 658,560 896,000 237,440
= 588,000
= 70,560
01 AxSHHBAEEZ 658,560 896,000 237,440
OszY2eEe N 658,560
= 588,000
= 70,560
MNP IS 26,350 68,510 ~42,160
= 26,350
308 XiXlEHHISOIH 26,350 68,510 A42,160
= 26,350
01 AXSHHBABES 26,350 68,510 142,160
Os2o H2s 0S 26,350
= 26,350




SN SUEHY
HE: soAMe s
Ol SIASANY U SAFLE FX (9l & 2
_ _ _ Muo
SNBSS - HRAY - BHES 0 & o4 e HIRZE2
YR0IYSHI XS 7,822,100 9,687,600 1,865,500
= 6,017,000
= 1,805, 100
308 XHXICHHI SO & 7,822,100 9,687,600 1,865,500
=2 6,017,000
= 1,805, 100
01 RXSHBABES 7,822,100 9,687,600 1,865,500
OYROILFHI N2 12,034,000, 0002 65% 7,822,100
= 6,017,000
= 1,805, 100
=010 AE (13 2 770,000 1,100,000 330,000
= 550,000
= 220,000
307 Q20| 770,000 1,100,000 330,000
= 550,000
= 220,000
EEREES 770,000 1,100,000 330,000
O=00IAHME 2 770,000
= 550,000
= 220,000
SHESHREN PN 511,114 511,114 0
308 XHXISHH SO & 511,114 511,114 0
01 RXSHBABES 511,114 511,114 0
O8==0{2142 25 X2
6, 70024 *12, 5805 122 *30% 303,430
Os2RS42 7S g
6,00021 0, 6155 122 x30% 207,684
=0l =& X 5,463,667 7,767,695 A2,304,008
= 18,176
= 5,445,491
308 KHXIEHHI SO & 5,463,667 7,767,695 A2,304,008
= 18,176
= 5,445,491
01 RASHBABEZ 5,392, 180 7,696,208 ~2,304,008
OB DSAIAZH MR 10,986,000,0002 *30% 3,295,800
OSJIIE20l NE 35,0008 %350 «452 *12% 66, 150
OSURE X3 N 2,030,230
06 DEIIBOCHE 2T 71,487 71,487 0
ONY =] FAH K 71,487
= 18,176
= 53,311
S0t §4 490,000 447,300 42,700
307 Q1201 200,000 417,300 A217,300
RN EES 200,000 417,300 A217,300




SN SRR
Ha: sHIWY 2
el SQOIAS AN U SANLE =7 (B9 &2
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES (il & OH Ofl At ot HwsZ
Osgolc X 200,000
403 Xt GHAIS XH= 0/ H 290,000 15,000 275,000
01 RXISHT2SE 290,000 15,000 275,000
OsgoI=Ts2 2 S 290,000
SOUNAME 4 107,800 72,800 35,000
307 212+0| 40,000 35,000 5,000
02 QIAAMBE 40,000 35,000 5,000
O=iHATNAHE X 40,000
308 XHXI G S 01 & 37,800 37,800 0
01 MXSHZAHEES 37,800 37,800 0
OO H AN AHE X2
120,000, 0002 ¥37 4 *10.5% 37,800
403 RXISHS K20 H 30,000 0 30,000
01 XIXICHH =SS 30,000 0 30,000
OOlM=AME 2R 30,000
SEXE e 1E 14,115,730 25,106,600 ~10,990,870
2 961,300
=l 10,457,000
= 2,697,430
SENE2ESY 2,124,000 1,950,000 174,000
3 1,810,000
= 314,000
307 212+0I 100,000 0 100,000
3 50,000
= 50,000
02 QIAAMBE 100,000 0 100,000
OSEHE0S BHEAL 100,000
=l 50,000
= 50,000
308 XHXI IS Ol & 402,500 0 402,500
3 350,000
= 52,500
01 HXSHMBALSTS 402,500 0 402,500
SEXNS0S H2It N
20,000,0002 * 1074 A %57 5% 115,000
=l 100,000
= 15,000
OFLHEOIS SSBAMH 75
500,000, 000! %57 . 5% 287,500
3 250,000
= 37,500
403 XHXISHUIS K20/ & 1,621,500 1,950,000 328,500
3 1,410,000
= 211,500
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SN SUEHY
HE: SAMe U
o9l SEXE oTet 1E (el &2
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
01 MXSHAZDE 1,621,500 1,950,000 328,500
O=MsE HE0S THAY N
300,000, 0002 *47} 2 57 5% 690,000
3 600,000
= 90,000
O=M=EHENE AL HES
50,000, 0002 1074 4 57 5% 287,500
3 250,000
= 37,500
OBY HE . 5Y B2 =4
1,120,000, 000 %57 . 5% 644,000
3 560,000
= 84,000
CsRREHs N 1,039,720 1,028,400 1,320
= 881,300
= 158,420
308 XHXISHH SO & 410,320 508,400 98,080
= 356,800
= 53,520
01 RXSHBABES 410,320 508,400 98,080
OSEMENE APEHE
633,600, 0002 57 5% 364,320
= 316,800
= 47,520
Os&=X N 80,000, 0002 %57 . 5% 46,000
= 40,000
= 6,000
403 RHXISH SR20IH 629,400 520,000 109,400
= 524,500
= 104,900
01 RXSHAZDE 629,400 520,000 109,400
ONEsBAEY 1,049,000, 000! *60% 629,400
= 524,500
= 104,900
NASESA R 92,000 182,000 £90,000
= 80,000
= 2,000
308 XHXISHH SO & 92,000 182,000 £90,000
= 80,000
= 12,000
01 RXSHBABES 92,000 182,000 90,000
OXHSESAAATE  160,000,0002 57 .5% 92,000
= 80,000
= 12,000
SEMOSA 6,656,960 4,764,000 1,892,960
3 5,120,000
= 1,536,960




SN SEMY
B S U
ool sENY oTe & (e a2
SN C(BH) - NRAY - HES 0l &k o Soe HlmE2
201 LBty 10,000 15,000 25,000
= 10,000
01 AtE22|Hl 10,000 15,000 25,000
OAt22t2l | 10,000
= 10,000
202 (48| 10,000 5,000 5,000
= 10,000
01 =LA b 5,000 5,000 0
O=WAbl 5,000
& 5,000
03 22 L0 5,000 0 5,000
O=2 bl 5,000
& 5,000
308 MHXIHHMSOIA 3,728,660 2,715,600 1,013,060
= 2,868,200
= 860,460
01 AXSMBAEEXS 3,728,660 2,715,600 1,013,060
OgENY 4 5,736,400, 0002 *65% 3,728,660
= 2,868,200
& 860,460
403 X SHMSAH=01H 2,908,300 2,028,400 879,900
= 2,231,800
& 676,500
01 MXIESHMA=2E R 2,908,300 2,028,400 879,900
OgEsYd s4 4,474,307 ,690& *65% 2,908,300
2 2,231,800
= 676,500
N MM ZTAASH 1,320,000 4,640,000 23,320,000
z 1,020,000
& 300,000
201 LBt FH| 10,000 15,000 A5,000
= 10,000
01 AtE222/Hl 10,000 15,000 A5,000
OArS 22/l 10,000
& 10,000
202 O4dl 10,000 5,000 5,000
= 10,000
01 =LHAbI 5,000 5,000 0
O=WAHYI 5,000
& 5,000
03 =€l 5,000 0 5,000
O=2 0l 5,000
= 5,000
308 AXIHMSOIN 366,600 1,090,000 AT723,400




SN SUEHY
HE: SAMe U
o9l SEXE oTet 1E (el &2
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 il b o B2
3 282,000
= 84,600
01 RXNSHBABES 366,600 1,090,000 A723,400
ONHHBAABAASE  564,000,0002 +65% 366,600
3 282,000
= 84,600
403 RXIGHH SR 201 933,400 3,530,000 2,596,600
=l 718,000
= 215,400
01 TXISH=EE 933,400 3,530,000 2,596,600
ONHHBABAATE  1,436,000,0002 +65% 933,400
3 718,000
= 215,400
SLME MU RS IR JIMTE X 2,883,050 0 2,883,050
3 2,507,000
= 376,050
308 KHXIEHHI SO & 874,000 0 874,000
=l 760,000
= 114,000
01 RXSHBLBES 874,000 0 874,000
OBY TP SAS M
1,520,000,000% 57 . 5% 874,000
3 760,000
= 114,000
403 RXISH SR 201 2,009,050 0 2,009,050
3 1,747,000
= 262,050
01 MXSHMAZEDE 2,009,050 0 2,009,050
O TOP SAS MA  460,000,000% 57 5% 264,500
3 230,000
= 34,500
Os442 MZENS N 1,744,550
3 1,517,000
& 227,550
SUHERSITNA 2,643,070 4,199,700 A1,556,630
= 940, 100
= 1,702,970
SsM2 28 2 AAHY Ys 671,450 551,700 119,750
201 LByl 40,000 45,000 25,000
01 Attt 40,000 45,000 25,000
Ossa2 82 2 ANy 27 40,000
307 Q20| 550,000 315,000 235,000
R EES 350,000 315,000 35,000
OOIE0HER X2 40,000
Ossa2 22 2 ANY %7 200,000




SN S
HE: sAMe st
Sl SMERETENM (el &2
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 Ofl AF o4 il b o B2
OsAZ elthl Xig 110,000
05 DIZHSIES 200,000 0 200,000
OsME 29 200,000
308 KHXIEHHI SO & 36,000 191,700 A155,700
01 RASHZLRES 36,000 191,700 ~155,700
OSSHE AREMY 36,000
401 Al&HIL 20| 45,450 0 45,450
01 Al&H] 45,000 0 45,000
OSHE SSH2 FABNE SN2 45,000
03 Al& S CH| 450 0 450
OSHNE sS42 FABHE SA2L 450
LS LS (GAP)AIE BRAY 636, 120 653,000 16,880
= 530, 100
= 106,020
403 THXIEHRIS XH 0] 636, 120 653,000 16,880
= 530, 100
= 106,020
01 UXSH=SE 636, 120 653,000 16,880
OSASMS(GP)A & B SA 636, 120
= 530, 100
= 106,020
SNSRENLHUEN 516,000 0 516,000
403 RHEISHHSR20|H 516,000 0 516,000
01 RXISHZSE 516,000 0 516,000
OS82 SEAS BHE X 516,000
ERENEER=E3E 402,000 0 402,000
308 XHXISHH SO & 402,000 0 402,000
01 MXSHBABES 402,000 0 402,000
OsStg IYS#c 84 Mg
1,273,333, 3002 *30% 382,000
OsStg 28 =9A 22 20,000
LARSFUS LA 417,500 0 417,500
= 410,000
& 7,500
308 XHXICHH SO & 417,500 0 417,500
= 410,000
= 7,500
01 RXSHBABES 417,500 0 417,500
OZARSEY X 360,000
= 360,000
Os0E2SHAIS 243 U 57,500
= 50,000
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